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Code No: 126AE
JAWAHARLAL NEHRU TECHNOLOGICAL UNIVERSITY HYDERABAD

) B Tech 11X Year II Semester Exammatlons, Apnl 2018

(ClVll Engmeermg)
""Time: 3 hours

Note: This question paper contains two parts A and B.
Part A is compulsory which carries 25 marks. Answer all questions in Part A. Part B

consists of 5 Units. Answer any one full question from each unit. Each question carries
l() marks and may'-have a;-b, c as sub questlons —

PART A

(25 Marks)
( l.a)  State the classification of roads as per first road development plan. (2]
b)  Discuss the objectives of reconnaissance survey and state the instruments used for this
purpose...
) Sketch t.h.,.e typic
: ‘elemeénts. e § L et
d)  What are the transmon curves‘7 Explam the functlons [3]
¢) Explain the various causes of road accidents. [2]
f)  Define: Spot speed, Running speed, Space-mean speed and Time-mean speed.  [3]
g)  What are the various traffic controls required at an intersection? 2]
h) erte a short notes on: Grade separated 1ntersectlons and trafﬁc 1slands [3]

(50 Marks)

2.a) What is the need for highway planmng‘? Discuss the benefits of well planned hlghway

e system-in.the social and economic development of a:country. S A

L o b) Descrlbe and compare the varlous road development plans in Indla
et H OR i

3.a)  What are the factors effecting highway alignment? Discuss in detail.
b) What are the various engineering drawings necessary for implementing a highway
project? What are their recommended scales? [5+5]

A, two:lane highway with design speed.of 120kmph is aligned with.a horizontal curye
of’ aéhus 200m. myVhat is.the super—elevatlon requited to. maintain thi§ speed? If ghe /.
/maximum super<elevation-rate of 0.07 and- toefficient:of lateral friction of 0:15 is tO be'. ...
prov1ded along with llm1t1ng the radius to 200m, calculate the allowable speed.

b) A r1s1ng gradient of 1 in 25 meets a falling gradient of 1 in 50 on a national highway.

The minimum stopping sight distance is 150m. Design speed is 100km/hr, determine

the length of summit curve and the distance of highest point from the starting of 1 in 25
[5+5]

www.FirstRanker.com




:l » FirstRanker.com

Firstranker's choice

www.FirstRanker.com www.FirstRanker.com

5.a) Determme the safe overtaking sight distance required for a two lane, two-way traffic

': opp051te direction is 80kmph
b) Find out the minimum length of transition curve required and the shift required to join

the transition curve with circular curve of radius 200m, for a road passing through
rolling terrain. Given design speed 65kmph, carriage way width 7.5m, rate of super
elevation 1 in 150 and the road is rotated about the center line to achieve super

eleva‘uon [545]

"‘:Whati'are the details 'collected in origm and destmation surveys? Explam the most""

( commonly adopted methods of O&D survey. [10]
OR

“ 7. What are the objectives of road markings and road signs? Classify road markings and

traffic signs giving two examples in each category. [10]

two-way trafﬁc in both directlons) [l 0]
OR
9.a)  What are the purposes of channelization? What are the salient features of channelizing
1slands‘?

OR
11.  What is the function of joints in cement concrete pavements? Write short notes on:
Expansron Jomts Contraction Jomts and Warpmg Jomts [10]
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